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=g
= S 5 0 5 =2
l.=8d &8dEBESE
oel 5
z 2 2
o w | P *
S3E(%) Chotese
2011 80,281 80,001 99.7 36,960 29,617
2012 81,224 81,159 99.9 7,232 30,597
2013 82,178 83,994 102.2 38,572 -
2014 83,143 89,238 107.3 39,340 32,257
2015 84,119 89,963 105.4 37,728
= = %
E— el 25 (%)

Ot of Bl F e Ch IO 2= o2 1y =
= T =

35,077 1,840 6,124 1,433 99.7

35,285 1,848 6,197 - 99.9

37,282 1,892 6.298 - 102.2
41,589 1,908 6,401 - 107.3
43,609 1,845 6,781 - 105.4
NEREEEE
CIXIQIASTOA 22I5te BEX oL S 12
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oo E4, m
=l Al
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W o |=32E | @z |zxz= | 2 | ue|ae
2011 s % 506 370 101 30 2 3 -
A 480,177 457,635 16,002 1,450 4 857 233 -
2012 = 591 429 115 39 3 5 -
HAH A 502,580 477,043 18,076 1,977 5,149 335 -
2013 s £ 490 339 106 32 5 7 1
HAH A 376,680 337,190 23,410 2,239 12,934 907 -
2014 s % 585 419 100 46 9 11 -
AN 429,477 379,086 19,863 3,831 25,337 1,360 -
2015 s £ 605 449 90 47 11 7 1
HO A 473,340 402,960 21,589 3,184 44,761 571 275
g = @ 3
e

p] 232/ ¥ = ESES = b e o E
112 77 12 21 1 2 -
22,713 19,315 2,014 996 298 90 -
139 92 16 28 1 2 -
26,499 21,5634 2,774 1,511 590 90 -
98 74 6 18 - - -
22,394 19,276 1,448 1,580 90 - -
123 77 7 33 3 3 -
31,479 27,064 1,688 2,000 546 181 -
104 63 8 31 2 - -
22,453 17,958 1,448 1,970 1,051 26 -
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B P~

Bl

o =2
A 232/E 3 = x X oo L 2 ol Et
64 22 33 9 - - -
8,361 5515 2,392 454 - - -
82 29 41 11 - 1 -
11,131 7,206 3,459 466 - - -
88 38 34 14 - 1 1
17,223 9,908 6.640 659 - 16 -
72 23 31 13 3 2 -
45,772 16,588 3,733 1,831 23,491 129 -
98 40 37 16 4 1 -
20,099 13,563 4,636 1,214 682 5 -
Al =
==
A 232E 3 =2 z X = 5 L 2 ol E
330 271 56 - 2 1 -
449,103 432,805 11,596 - 4,559 143 -
370 308 58 - 2 2 -
464,950 448,303 11,843 - 4,559 245 -
304 227 66 - 5 6 -
337,063 308,006 15,322 - 12,844 891 -
390 319 62 - 3 6 -
352,226 335,434 14,442 - 1,300 1,050 -
403 346 45 - 5 6 1

430,788 371,439 15,505 - 43,028 540 275




3. 0b ot E
crgl 1 i
72 g x= g =2
of & al
R P zeis
s g 40m | 40~60m | 66~85m | 85~135m | 135m
o5t 013t 013t 013t En!
2011 3 62 - - 62 - -
2012 26 1,541 - - 621 920 -
2013 41 1,949 - 218 1,731 - -
2014 69 4,295 452 1,342 1,581 920 -
2015 63 2,814 - 349 2,107 121 237
34 s - - - - - - -
oS 12 1,112 - - 996 116 -
oo S - - - - - - -
=4S - - - - - - -
SM2E 10 442 - 86 119 - 237
Ho = 10 102 - 20 78 4 -
=9 s 3 37 - - 36 1 -
23 s - - - - - - -
s s - - - - - - -
e s - - - - - - -
R R - - - - - - -
W0 s 14 432 - - 432 - -
o A= 14 689 - 243 446 - -
NERIRPIEES
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5. 8 X
o9l EXI4, @
g = X 9 g
e o =N e T
s = € EAXY | AN | BEXY | =SAKY PHZEES R g Cxe
DIXNE T

N4 | BF | BX4| MF DX | GF DN G (BN GF BUL| 6 LN 6
2011 |7,604 998.0 5688 648.0 1,765 66.0 - - 93171.0 58113.0
2012 |1,370 5345 1,189 376.0 80 164 - - 9 141 921280
2013 [10,8081,362.0 9,9421,093.0 740 43.0 - - 15 9.0 111217.0
2014 |1,6601,205.1 1,245 795.4 153 17.1 - - 511751 2052167 6 0.7
2015 [13,1492,624.411,6301,970.0 998 82.1 - - 225217.0 2793450 17 10.3
stgS | 347 490 263 370 83120 - - 1 - - - - -
A S 191 231 117 130 73100 - - - - - - 1 0f
=aMs | 1968 2750 1,986 2750 32 01 - - - - - - - -
Hots 87 80 8 80 - - - - - - - - - -
S1s 178 120 50 60 128 60 - - - - - - - -
Hus 157 250 42 120 115130 - - - - - - - -
= 101 140 101 140 - - - - - - - - - -
™S |1,056 107.0 919 950 184 100 - - - - 2 20 - -
Sots | 1,174 3040 1,017 1450 73 9.0 - - 20 420 641080 - -
ss 756 3140 492 900 - - - - 141 119.0 1221050 1 -
B3 S 746 580 704 550 38 20 - - 3 10 1 - - -
Ces | 535 181.0 473 1120 - - - - 28 240 33 450 1 -
s = 174 150 173 150 1 - - - - - - - - =
M S |1165 1181 1,109 1130 50 30 - - - - 1 20 5 0.1
49ls | 583 143.0 537 139.0 45 40 - - - - - - 1 -
BES 182 222.0 143 1520 - - - - 8 140 25 460 6 10.0
ot AbS | 1,561 1761 1,497 121.0 8 1.0 - - 24 170 31 37.0 1 O.1
YRS | 2139 580.0 1,970 568.0 168 120 - - - - - - 1 -

1)

0074 &5 2% B2 2) 20124 SHAKNZE =& : HEE DE&2Z stA MELE



Ja

S AS 179

Bl

X 2 =
o

- & =] o X 9 o |3IEXN| I E

z 7 TR4| OF | BN4| 6X | BX4 | BE (X4 BE |BRL|OF|EN4 X

176 29.0 46 42.0 7,147 676.0 101 219.0 - - 134 32

- - 197 59.0 60 46.0 6764 7880 951440 - - 73 35

333 57.0 85 34.0 10,077 983.0 97 261.0 - - 216 27

151 50.6 60 56.1 1,124 7351 1173277 - - 208 356

315250.6 119 93.3 12,0701,763.7 4194562 - - 226 60.6

f1 10 1 - 308 460 - - - - 27 20

- - 3 0.1 172 21.0 - - - - 16 2.0

119 80 3 01 1778 2680 - - - - 68 9.0

2 - - - 83 8.0 - - - - -
- - - - 175 11.9 - - - - 0.1
1 - - - 150  25.0 - - - - -
8 0.5 - - 89 13.0 - - - - 0.5

- - 1 - 1,095 102.5 4 45 - -
26 19.0 31 19.0 1,050 126.0 50 128.0 - -

A W O N N OO~ O W N
N
o

45 9.0 7 5.0 526 129.5 171 165.5 - - 5.0
7 041 4 0.1 689 53.0 40 3.0 - - 1.8
3 1.0 29 26.0 451 83.0 49 68.0 - - 3.0
7 2.0 - - 161 12.8 2 041 - - 0.1
21 2.0 2 3.0 1,066 109.0 54 4.0 - - 22 01
5 1.0 4 - 568 142.0 - - - - 6 -
19 51.0 19 19.0 126 105.0 15 44.0 - - 3 3.0
21 10.0 14 21.0 1,484 950 30 39.1 - - 12110

20 146.0 1 - 2,099 423.0 4 - - - 1511.0
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232,634 232,634 - 36.98 36.98 11.65
233,013 233,013 - 36.98 36.98 11.65
234,607 234,607 - 36.98 36.98 12.34
238,825 238,825 - 37.07 37.07 12.34
244,481 244,481 - 37.07 37.07 12.34
= N X o

o = - - TN
= ylg w288 s 2|28 | =23y
139 0.1 1.8 - - - - - -
139 0.1 1.8 - - - - - -
157 0.1 146 - - - - - _
157 0.1 146 - - - - - -

1.57 0.11 1.46 - - - - - -
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7. 2 <
el ¢ ki
% B ox 3 TR
of = | & 7
oo | & @ | A ZAT | AARs |2 e
201 1 .86 - - - - 021 011 - o
20102 i 81 - - - ~ 021 011 - o
2013 i 81 - - - 021 011 - o
2014 i 81 - - - - 0.2 0.1 - o
2015 1.81 - - - - 0.2 0.1 - o1
=N 2 o= 5 3

o u
20D | ®# M |gaKT|gmiT % g FI;% MET
201 1 .28 1.8 - - - 032  0.32 - -
2012 .28 .28 - - - 032 032 - -
2013 .28 .28 - - - 032 032 - -
2014 .28 .28 - - - 032 032 - -
2015 1.28 1.28 - - - 032  0.32 - -
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10. ol &
Cte| km
e MW =
oy g
St 2= A) £ o =
= A &
pIB/E= 01 K== HEE(%)
2011 8 29.30 34.60 28.45 6.15 82.23
2012 8 29.30 34.60 28.45 6.15 82.23
2013 8 29.30 34.60 28.45 6.15 82.23
201 4 8 29.30 34.60 28.45 6.15 82.23
2015 8 29.30 34.60 28.45 6.15 82.23
2t ot & 1 8.00 8.00 6.20 1.80 77.50
Xl e o & 7 21.30 26.60 22.25 4.35 83.65
X2 AL
= % =]
ool -om, e
o/ = g JNE=J=PSPS
o 5 - [=SINSES
(m')
& = =X | I E = XA %
2011 33 31,631 - - - 31,631 - 16,255 16,255
2012 29 29,649 - - - 29,649 - 17,095 17,095
2013 29 29,722 - - - 29,722 - 17,468 17,468
201 4 28 26,303 - - - 26,303 - 17,817 17,817
2015 25 25,043 - - - 25,043 - 17,237 17,237
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12. & =
©® im, m, %
& Al
o g s &
o = & OIS

TEE (%)
2011 337,824 263,026 100 74,798
2012 327,274 262,119 100 65,155
2013 329,819 253,855 100 68,413
2014 343,569 262,915 100 66,798
2015 344,415 276,608 100 67,807

2 Bt = &
T o X
[ | 0|z & OIJHE

TEE (%)
- 10,402 10,402 100 -
- 10,402 10,402 100 -
- 16,393 16,393 100 -
- 16,393 16,393 100 -
- 16,393 16,393 100 -

N2 Al HAEE20, AL



A
12-(1). & 2(=
Cte| m, ™, %
T 2R YE
o o 7 =
s 0EE OHE | B A
TEE TEE
201 1 86,528 41,917 100 - 44611 - - -
2012 | 86528 42,957 100 ~ 43571 - - -
2013 | 95226 42,957 100 - 46,956 - - -
2014 | 95206 42,957 100 - 46,956 - - -
2015 | 95206 42,957 100 - 46,956 - - -
2 = <
0l E& T = 0HE
TS,
RS
- 026,614 196,427 100 - 30,187
- 216,064 194,480 100 - 21,584
- 218,200 194,505 100 - 21,457
- 217,670 195,276 100 - 19,842
- 231,959 211,108 100 - 20,851




e
o =] =
12-2). E gz =z 8 &
m, m, %
== 2 (52g)
e 2
= _ O 4)
S B2 o= 52 A2
= (40m Ol4f) |(25~40m 018 |(12~25m0l8h)| (12m0Igt)
2011 309,862 3,660 36,611 71,809 197,782 -
2012 299,312 3,660 36,611 68,461 190,580
2013 310,146 4,160 44179 68,882 192,925
2014 309,616 4,160 44,179 68,882 192,395
2015 309,616 4,160 44179 68,882 192,395
NS Al HAEEZZ, HED
F  12007ERH M-



13. & =
=P com, m
2 &£ 58 1 X o 2 & PN PN
-
D/ e~ el oA M 2 oA o N oA o o
2011 6 143 572 3 80 1,277.5 5 968 12,987
2012 6 143 572 3 80 1,277.5 5 968 12,987
2013 6 143 572 3 80 1,277.5 5 968 12,987
2014 6 143 572 3 80 1,277.5 5 968 12,987
2015 6 143 572 3 80 1,277.5 5 968 12,987




2l
Je

A - 193

—| [
a4 =
b & =2 Xl o & D} = = =2s
oom | em | pa | odm | em | Ha | em | B | Ha
310 4,960 2 681 19,943 - - - 3,477
310 4 960 2 681 19,943 1 235 4,700 3,994
310 4 960 2 681 19,943 1 235 4,700 4115
310 4,960 2 681 19,943 1 235 4,700 4115
310 4,960 2 681 19,943 1 235 4,700 4,115




14. 1
o9l jA, m
& p] e
o w
A o I oA o & Mo o &
2011 29 3789.2 29 3,789.2
2012 29 3,789.2 29 3,789.2
2013 30 3733 30 3733
2014 30 3733 30 3733
2015 38  5,030.10 10 2,071.00 7 834.00
X2 A AECR2Y, AL
= 20164 HSERHY(DETZ>DERT)



2l
Je

S AH - 195

2
=
TR Z o N 2 =

oM 2 o & oM 2 o & oM 2 o
6 1,184.5 5 2,342.4 8 262.3
6 1,184.5 15 2,342.4 8 262.3
5 745 6 2,507 9 480
5 745 6 2,507 9 480
5 745 2 1,644.80 9 480.30









